R

~F1ERFLFL RS

108 # 027" 19 p 15~

i

108.01.

JEiE
8EEp s 1 B %1 (%] ¢ R4
108.01.31 1 H e ¢
m%rmiﬁ‘fﬁé’b ]‘
108 # 02 " 20 p 1 ¥ ~ W?}Fm%ﬁ?mzé%ﬂﬁig’il 273
108 £ 047 23 Py EFAULNA ZHMERNEHG I P F-1FREEF R
108 & 04 * 25 p 1 %rmwﬁrmﬂ-g

108 # 05 * 03 DI“’?,;}‘mT&qF%}‘mzég

109 # 04 % 09 p 1 Frairoc g

109 # 05 % 21 p 1 Fhelais R TRiTrcg
109 # 05 7 29 p TE Fufais §

112# 03 7 02 p 1 Frfaitg

112# 03 72 28 ¢ IE%I‘%}‘%E%@

12#& 11 % 15p 1
112 # 11 * 29 p 1 FRufair € R

fff’ﬁv}kgvi
sa_}—»gl

Fitdid L gk
i

112 # 12 % 26 p R E Fufeit € R F R
1132077 01 pP1HrRiiscid §REAR

S ARAIFBREL AN AN R RS S UL EP LS o BT A
S B phd o R KT A SRS RN R LR
o AL FRW LT
3 & 12 T 7 ﬂLEl’f‘%F‘ LY .:Ir’cj uj' 2
b= /P'J:%E r'f?— Jfﬂ‘f—g (ﬁx— pm) (ll' ﬁ;&ﬁ F%’? FE
B ER N RPN
VR e iR 143 A%
* T4 5o TR, | NTSS00 ~ .
| S e ¥ % A2k NT$ 800 ~
2 % # 4 GEPT AREHES B
P B A7 iR iE | NTS 800 ~
B AR | NTS 1200 = | ¢ % % 4F 22 NT$ 1200 =~
600-665 A | NT$ 500 ~ ez 2 NTS 1540 =
% ¥ TOEIC 670-795 ~ |NT$ 1000 = |~ 7 )
@R 2 NT$ 1500 =~
800 ™+ | NT$ 1500 =~
64-70 ~ | NT$ 500 =
345 iBT 71-89 4~ | NT$ 1000 = | USD165 =
90 4 12+ | NT$ 1500 ~
s 480-509 A~ | NT$ 500 ~
345 ITP 510-534 4 | NT$800 = |NT$ 1160 =
535 412+ | NT$ 1000 ~
5.0-5.5 & | NT$ 500 =~
5 2, iP5 IELTS 6.0-6.5 % | NT$ 1000 =~ | NT$ 5250 =~
7.0z | NT$ 1500 =
Gl R 145-159 » | NT$ 500 ~
(B3 plER) 160-179 A~ | NT$ 1000 = | NTS$ 1850 ~
LINGUASKILL 180 4 2+ | NT$ 1500 ~
| 170-199 4 | NT$ 500 =
£ 4 ¥ # BESTEP - .
s 200-229 4~ | NT$ 1000 = |(p % ¢ %+ 2% 2354 05)_
(B #1%) 230 ~ 17+ | NT$ 1500 =~
N4-N5 (80 4 £ &) | NT$ 500 ~
‘ P AE a4 R — N4-N5 NT$ 1,500 =~
P2 N2-N3 | NT$ 1000 =~ )
(JLPT) N1-N3 NT$ 1,600 ~
N1 | NTS$ 1500 ~




B RFE N RER

5 A (A4-AS)

NTS$ 500 ~

A ~ ® % NTS$ 1,000 =

# s | NTS$ 800 = ’
(TOP J) B NTS$ 1,100 =
+ % | NT$ 1000 =
(CECRL) A1 | NT$ 500 =~ [A1NT$ 3,000 ~

AT TR0 e TR

(CECRL) A2 12

NTS$ 1000 ~

A2 NTS$ 3,500 ~
B1 NTS$ 4,500 =

L (GOETHEZERTIFIKAT) B2 NTS$ 5,500 =
wm~ _ .
C1270 % ~ (5 %47
(CECRL) C1 12+ | NT$ 1500 =~ & ) (‘f % 7
C2295 =~ (5 4%
AR 7 % = % TDN 3 | NT$ 500 ~ 195 & -
(TestDaF) % 2 % TDN 412+ | NT$ 1000 ~
TOPIK I 1 & | NT$ 300 ~
R 04 % TOPIK 12 & | NT$ 500 ~
S ERR S &R NT$ 1,100 =
(TOPIK) TOPIK 11 3-5 % | NT$ 800 =
TOPIK 116 % | NT$ 1000 ~
DELF AI/DELF | o ALNT$ 2,600 =
Pro AL(B50) A2 NTS$ 2,900 ~
e B1 NTS$ 3,400 =
(DELF) (CECRL)A2 2 + [ NTS$ 1000 = | B2 NT$ 3,800 =~
| CINTS 4,400 =
- (CECRL)C1 - INTS 1500 % | () 76 6300 =
(CECRL) Al | NT$ 500 = [ ¢%# # NT$3,000 ~
er 4ol 4o d B i NTS$ 2,700 ~
Fe T (CECRL)A2 1 1 [NT$ 1000 & | 4% = 3 NT$2,700 ~
(TCF/TCFDAP) i
CECRL) Cl 151500 < | 2 e A NTST.500 %
] b e
( )CL L [NTS 1S %% b iF NT$5,500 =
(CECRL) Al [ NT$ 500 = | ] NT$ 2,500 =
A2 NTS$ 2,800 ~
g T = > ¥ =3
FILT R (CECRL)A2 12+ | NTS 1000 = |B1NTS3,300
(DELE) B2 NTS$ 4,200 ~
SN (CECRL)C1 2+ | NT$ 1500 = | €1 NTS 4700 =
C2 NT$ 5,000 =
(CECRL) Al | NT$ 500 =
T %I;ﬁhi% &= J =3
TR S (CECRL)A2 2+ [NTS$ 1000 = | NT$ 1,600 =
(esPro BULATYS)
(CECRL)C1 2 + [ NT$ 1500 =
_ B EFR4 NTS 1,200 ~
FEi S R . _ e _
s CUTFL Chula Novice | NT$ 500 =~ | 4% & i NT$ 800 ~
1 ( ) 4o v 3 NTS$ 2,000 ~
% W3E < # 2Rl% (TLPT) T5(70 4 2 +) [ NT$ 500 = | NTS$ 1,200 ~
Al % A & NTS$ 1,000 =
P R A% 3 E i (IVPT) AR T8 500 =

(6034 <79)

B~ C % NT$ 1,500 ~




FJ
3PN KL LR AT A HED (AR ARk RN e TR 4

e o 2 GRTEERAST > LTSN HHA K -
B HAAEHEY A BRI U L F Y 2 BRI FFRD AR Aok
CE S i TR s QD SR WAL Y B L R (R A -
B AR AR o B AT H - GEE, (B ?\;ﬁ‘ﬁ‘%%NTﬂ;SOO A .
(-REFHT RS2 T -
(C)*r - EPREAH It REFE
Ao AERE E AR AR R R £
= APREERRAIM EREELH Y BEETR

A G AR EINAE LSRR L AR RO 003 dhak
J

%

o



